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943| = LR K B EE335-1 10
944| = ILE K B h B E342-1 10
945| = LLE K R EE380 10
946| = LB K R EE389 10
947|E LR KR T EE388 10
948| = LBk B h B E381 10
9| EILEKRTEET69-1 10
950| Z LB KR EE19-1 10
951|=Z LB KR T EES34 10
952|ZE LB KR EET12-1 10
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953| = IR K R EE369 10
954| Z LR K R EE368 10
955| = LB )k B h & E363 10
956| = LB K B h & E864-1 10
957| = LR K R EE360 10
958| = LB K B h B E541-1 10
959|E IR K R SE1088 10
960| = ILIE K R S E203-1 10
961|= LB K B h & E530-1 10
962| = ILUE KB T EE542-1 10
963 = IR K B EE1065-1 10
964| = 1B K B B E543-1 10
965| = LB Kk B B E550-1 10
966| = LLIE K B B E592-1 10
967| = LR K R T EES51-1 10
968| = LLIE K B B E591 10
969| = LB Kk B B E588-1 10
970|E LB KBTS ET07-1 10
IM|EFLEKEHERE578-1 10
M| EILEKEHTEESTI-1 10
93| ELEKR T EES72-1 10
974| = LR K B B E560-1 10
975| = LR K B B E903-1 10
976| = LB K R B E682-1 10
977|E 1ILE K B h B E207-1 10
978| = LR K B & E686-1 10
979| = LB K B B E860-1 10
980|E LR KBTS E702-1 10
981| = ILE K R EE1031 10
982| = LBk B & E706-1 10
983|EILEKRTERETIS 10
984|EILEKR T EET67 10
985|Z IR KR T EET68 10
986| = LB KR T EE1103-1 10
987|ELEKBEHERET763-1 10
988|E LLIE K B EE1032 10
989| = LR K B h EE1042-1 10
990|E LI Ek R &2 760-1 10
M |EILEKRTHERT51-1 10
992|E LLE Kk R & =E750-1 10
993| = LI R K B B E842-1 10
994|Z LBk B & E856-1 10
995| = LB K B B E859-1 10
996| = LB K B & E862-1 10
997|E LLEk B & /Z863-1 10
998| = LBk B h B E881 10
999| = ILE K BRH EE1044-1 10

1000/ E B K B BE934-1 10
1001 |E IR K BEH EE32-1 10
1002| E B K B BE933-1 10
1003|EIEKEHEE21-1 10
1004[ZE LB KB FHEE916-1 10
1005| = L8 Jk B /i & E900-1 10
1006| = LBk R B E982-1 10
1007|E Bk B B E983-1 10
1008| E B K B B E996-1 10
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1009 Z L2 5k B & FE998-1 10
1010[Z ILE Kk B H & E 1029 10
1011 [EBILEKBHEE1041-1 10
1012[ZILE K B EE1051-1 10
1013[EILE Kk B h &E 1083 10
1014|EILEKEHRERE317 10
1015|FILE K B h & E192-1 10
1016/ 1LUE jk B & E200 10
1017[ZILE Kk B h & E202 10
1018[E 1LE jk B & & 1000-1 10
1019[ZILE K B &E1001-1 10
1020(F ILE k B h & E 348 10
1021{E ILEk B h B E749-1 10
1022| 2 ILE K B EE544 10
1023|Z LBk B B E545 10
1024|E IR K BEH BE334-1 10
1025|FILE K B &E710-1 10
1026| = IRk R EE865-1 10
10272 1LE 5k B = FH109-1 10
1028|Z LB K Bi= H197-1 10
1029| = LBk R = FH55-1 10
1030| E1LE kK B i = H9-1 10
1031|E LB K B B E105-1 10
1032(E LBk B H &/Z508 10
1033|E IR KEH=ERH152-1 10
1034|ZEIEKEH=EH196-1 10
1035|E IR K R BE529-1 10
1036| = LB Kk R B E533-1 10
1037|E IR K EH EET755-1 10
1038| = LB Jk B /i '= FH208-1 10
1039|E B KB =EH129-1 10
1040 = 1LE jk B h = FH 361 10
1041 | E LR KB EE332-1 10
1042[Z 1LEk B &/Z383 10
1043|Z LB 5k B = H142-1 10
1044 = 1B 5K R i = H60-1 10
1045(F LB 5k B th = H87-1 10
1046| Z IR K R i= FH96-1 10
1047|Z IR KRB =ERHI7-1 10
1048| E IR K R =EH133-1 10
1049|E IR KEHEE193-1 10
1050(Z LBk B h BE223-1 10
1051 |EIWEKEmEH41-1 10
1052|EILE K BHERE376 10
1053| = IRk R = FH49-1 10
1054| 2 IHE K B = H6-1 10
1055|E IR K EHmEE1024 10
1056| IR K BT EE22-1 10
1057|Z WE K BRi=EH39-1 10
1058|E IR K BRmEH74-1 10
1059| 2 IHE KB =H181 10
1060| = LB Jk B = FH245-1 10
1061|EILEXKEH=H183 10
1062|EIHEKBEHEHI-1 10
1063|ZIEKEHmERHI21-1 10
1064| = LB K B i= H128-1 10
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10652 LB K Bhi=H176 10
1066 = L2 5k & = H32-1 10
1067|ZILE K B Hh &E153-1 10
1068|Z LBk B h & E519-1 10
1069/ = LB jk B = FH216-1 10
1070(ZILE K B EE1018-1 10
1071[BILEXKBEHERE111-1 10
1072[Z 1LE k B h & E502 10
1073|EILE K B h & E514-1 10
1074|Z1ILE )k B h & E586-1 10
1075|E ILE Kk B h & E857-1 10
1076 LLUE jk B h & FE858-1 10
1077/ =2 1L 5k & = FH59-1 10
1078|EILE K B hH B E122-1 10
1079 LB K Bi=H111-1 10
1080 = LI 5k & = FH209-1 10
1081|EIEKEH=HH198-1 10
1082|= LBk B /= H495 10
1083|EILEKBH=EHT-1 10
10842 ILEXKEFERE196 10
1085 ILE K R B E221-1 10
1086 | Z IR K EHEE691-1 10
1087/ = LB 5k & & FE 700-1 10
1088| E LB K Rii= H125-1 10
1089|Z LBk Bi= H217-1 10
1090(E LB K BEFH EE378 10
1091 ILE K B B E521-1 10
1092|Z IR KEHEES31-1 10
1093| = Bk R B E549-1 10
1094|E1LE 5k B EE600 10
1095|E1LIE K BTHERE678 10
1096 | E IR K BT EE687-1 10
1097[Z 1Bk Bth=H177 10
1098| = L I8 Jk B i = FH40-1 10
1099|EILEKBHERETT6 10
1100| = LR K B i B E845-1 10
1101{E LB 5k B h = FH244-1 10
1102|E LB K B EE1047-1 10
1103|Z LB 5k B = FH126-1 10
1104|ZEKEHm=EH18-1 10
1105(Z LBk B th = H73-1 10
1106(Z ILE Kk B th = H114-1 10
1107|EWEKEHEES81-1 10
1108| Z B KEmERTI-1 10
1109[EILEKBF=H179 10
1110|EILE K B EE321 10
1111{ELEXKBEHERE379 10
1112|EILE K BHERE390 10
1113 WEKEH=EH378-1 10
1114|S1LE K B EE233-1 10
1115[Z1LE Kk B EE315 10
1116| = LR K B = H120-1 10
17| LE K B = H207-1 10
1118|ZE R KB B E208-1 10
1119|EILEKEHEH13-1 10
1120/ ZFEKEHmER14-1 10
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1121 LBk B = H15-1 10
11222 1LE Kk B = H232 10
1123| = 1L 5k & = FH58-1 10
11242 1LE 5k & = FH189-1 10
1125/ = 18 5k & = FH 38-1 10
1126/ = LB 5k & = FH195-1 10
11272 1LE 5k B = FH199-1 10
1128[F1ILE Kk B h & E 10431 10
1129/ = IUE 5k B = FH 501 10
1130| = L8 5k & v = FH48-1 10
1131[FILEK BHEE198 10
11322 1LE Kk B = 233 10
1133[EILEKEHFERETS6 10
1134|Z IR KEHEET788-1 10
11352 ILE K B B E125-1 10
1136|= LBk B h & E#EA1355-1 10
1137|Z LB K B h & E#iA1356-1 10
1138|E1LE Kk B i = H451 10
1139 = LBk B = FH123-1 10
1140/ Z 1Bk B = H180 10
1141|Z ILE )k B = H234 10
1142|2118 5k & v = FH 387 10
1143 ILE Kk B = H4-1 10
1144 112 5k & th = FH44-1 10
1145|F LB 5k B = FH452 10
1146|211 E K B/ = H499 10
11472 1L 5k B = FH249-1 10
1148 LB K B EE341-1 10
1149 EILEKBETHERE367 10
1150{F LB 5k Bt & E509 10
1151[{Z1ILEk B th = H143-1 10
1152[Z1ILE K Bth = H127-1 10
1153|E IR K R = H56-1 10
1154[F 1LEk Bth = H278 10
1155|Z IR K B =EH124-1 10
1156 EEKEHERE1019 10
1157 1ILE K B EE102-1 10
1158 E IR KEHEE103-1 10
1159(E ILE )k B h & E 104-1 10
1160[Z LBk R th EE 1094 10
1161[EILEKBEHERE118-1 10
1162[Z1ILE Kk Bh EE242 10
1163|EILEXKEHERE364 10
1164| S LB K B = H148-1 10
1165| = IR K R = H43-1 10
1166/ ZWEKEH=ERE110-1 10
1167|SILEKEHEH182 10
1168| = LR Kk R = FH90-1 10
1169|ZE IR K Em=ERHII-1 10
1170|EILEKBEHERE577-1 10
171 E1ILE K BT =H497 10
1172[Z 112k B = FH496 10
11735 1LE k B F = H498 10
1174] 5 1LE jk B = FH500 10
1175| 5 1LE Kk B = H388 10
1176| Z1LE Kk B = H389 10
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11772 1LE 5k & = FH69-1 10
1178[FILE K BRH EE195 10
1179 Z1ILE 5k B h & E206-1 10
1180 F LBk B h & FE338-1 10
1181 FILE Kk B h & E525-1 10
1182| = LB jk & = FH503 10
1183| = LB jk & = FH54-1 10
1184|E R K BT EE1053-1 10
1185|F ILE Kk B h & E336-1 10
1186] = LBk B h & E#EA1360-1 10
1187|E1ILE Kk B h & E570-1 10
1188|Z LB K B A 110 5
1189| = L8 Jk B i #4/£338-1 5
1190| = & ;&) T KEE208 10
1191|Z R BT KE267 10
1192|E WE &I T KE271 10
1193|E IR BT KE272 10
1194|E IR B)IITHKE273 10
1195|E IR BT KE274 10
1196| = IR ;BT KE275 10
1197|E R B)ITHKXE276 10
1198| E R F)IITHKEI 10
1199| = IR /&I KE304 10
1200| = IR &I KEES313 10
1201|E LR BT KXES 10
1202| = LR ;BT KE9 10
1203|E IR B)IITKE129 10
1204| LR BT KE141 10
1205| = IR ;&) T KEE21 10
1206| = IR BT KE22 10
1207|E LR BT KE26-2 10
1208| = LI ;&)1 T KEEST 10
1209| = LR ;BT KEES32 10
1210/ IR 2 S & E3783 10
1211 E B S hEE3243-1 10
1212 LB #E T T & 124-1 10
1213| = LU E W T F{R126-1 10
1214| = 1L E Hf & i F £/ 129-1 10
1215| = LU E B TR 1481 10
1216| = LU B H F {2150 10
1217| = LR R T TR 154 10
1218| = LB Hf & i1 F££2701 10
1219| = LU E WK T F{R2703 10
1220| = I B W R FR2707-1 10
1221 | E LB E T RZE110 10
1222| Z B R AZE112 10
1223| = IHE R AZE113 10
1224 = LB Hf K th A FE130-1 10
1225\ = LB W/ E382-1 10
1226| = LU BT/ E383-1 10
1227| = I E WK/ E386-1 10
1228| = LU WK T/ E387-1 10
1229| = LB BT /INE 243 10
1230| = LU E B /I B 3541 10
1231 | = LB WK T/ E393-1 10
1232| = LB WK /N E396-1 10

22




pilEdis

=RAMF AR S S EOE (BE)

No. ith £, Hth 2% 1 SR HIR ()
1233| = LI B WK/ E398-1 10
1234| = 1B Hf K i R FF 721 10
1235| = LU Hf T /\ 12587 10
1236| = LUE BT /\ 12589 10
1237| & W EHKRTH/\1+2590-1 10
1238| & I EHERTH/\+2591-1 10
1239| = ILE MK T /\ 12592 10
1240| = LU E B T = %130 10
1241 | = 1L E WK T = #3471 10
1242 = 1L E W R = #%93-1 10
1243| = 1L E KT MR 16 10
1244| = ILEMRETH/\+15-1 10
1245| EIUEWE KT /\ 12516 10
1246| 2 B ERH/\+H17-1 10
1247 | EILEWE KT /\ 12578 10
1248| = ILUEMR KT /\+2579 10
1249 LB W R Th R £R246-1 10
1250| = LU EHp R ithR 17 10
1251 | E B EH = %132 10
1252| 2 L E W5 T = 7524 10
1253 | = LU E W h = 7528 10
1254| 2 LB W R = #%25 10
1255| = LU W R T = #2811 10
1256 & LU B B R = #2821 10
1257 = LB Hf R ith R 27 10
1258 | & LLI 12 Bff 3% v /L R 39 10
1259| &= LU B Hf i i it [ 80 10
1260|= LU B Hf K = %365 10
1261| = 1B KT R{R1197 10
1262| = ILEHFRHFA116 10
1263| EIUEMERAER117 10
1264 | = LU Hf R T R {R432 10
1265( = |12 5 % h B R 5641 10
1266 & LLI 12 Bff 3% 1 2R {R 5661 10
1267 | = LU W R T R {R1242 10
1268 | = LU E B R T 2R £R 1258 10
1269| = LU E R T ER{RT76 10
1270| = ILHEH KT /\ 1258 10
1271 | = LB Hf R = #2349 10
1272| = 1LE B R T = #2363 10
1273| & LI I8 B 3 T B8 AN599-1 10
1274| = |18 §5 i T B hn602 10
1275 | E U ER R EFFI E116 10
1276| E L E MR T B4 595-2 10
1277| 2 W B Rt B4 £99-4 10
1278| = LU B B i T B JN656 10
1279| = LI & B 3 h B AN 59 10
1280| = LI I8 H5 i T B 060 10
1281 | = LU B B R Th B AN96 10
1282| = LI 2 B 3 h B An98 10
1283| = LI 2 B i T B A099-1 10
1284 | = LB Hh R B AN73-1 10
1285| = LB B R T B AN 74-1 10
1286| = LB B R N8 1-1 10
1287 | = LB W T A EH663-1 10
1288| = LI 2 B i T A FH 6861 10
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1289 | = LU E B h A FH 701 10
1290| = LU B Hf R T A FH685 10
1291 | = LLE Hf R A EH699 10
1292| = ILEHf R AH703 10
1293| = ILHEMF R AHTI2 10
1294| = 1LEHR R T AEH713 10
1295| & LI I8 55 i h Hh #7499 10
1296 & LI 2 B i T eh #7571 10
1297| = I E W R h£134 10
1298 | = LU E B R T ep 4435 10
1299| = LU E W R p 4136 10
1300| = LU W R R 170 10
1301 | EILEMFEHT FHE4 10
1302| = ILUEHR R F 56 10
1303| = LU E W R oT 74 10
1304| = LU B Hf R FA T80 10
1305| = LU B B R i fA T 89 10
1306| = LI E WK™ F 582 10
1307 | = LUE WK™ F 5831 10
1308| = LI E W R T 5841 10
1309 | = LU E B T FA T8 10
1310| = LU E W R fAIT83 10
1311 | EWEHEH FHE87-1 10
1312| = LU E W R fA T 88 10
1313 EILEMNET FHETS 10
1314| = LU E W R fk T84 10
1315 F LB R FHE19 10
1316|= LU E B KT T 5891 10
1317[EILERRE T T 55941 10
1318| = LUE W™ T 549 10
1319 = BB R T 566-1 10
1320| = LU E Hf R fA 5T 90 10
1321 | = LU E W Rt 4E817 10
1322| = LU B B R T 430 488351 10
1323 | = LU E B R i 40 488701 10
1324\ ILEHRE T E) BT £ B X R {R3765-1 10
1325(E ILE MR E) BT € B KR R3765-2 10
1326| = LU B H )BT £ B K R {£3469-1 10
1327|E ILE R E) BT £ E X R {R3725-1 10
1328 LLE MR E) BT € B KR R3725-2 10
1329| = LU E W BT ) | BT 2 B K = {£3725-3 10
1330| = LU B R /N2 493 10
1331 | E LR AR T /M 2515 10
1332|E LB HRR T /N 2516 10
1333| = LU IE B /[N 425381 10
1334| = ILE R R 2 A 11 10
1335| = ILE R T2 K12 10
1336| = LU 2 B T #2 K250 10
1337| = ILUE MR A2 AR251-1 10
1338 = LI I8 B i T #2 <259 10
1339| = LU IE W T A2 K 262-1 10
1340| = LU E B /[N 42450 10
1341 | = LB HR R /N2 469 10
1342| = LU BT /N2470-1 10
1343| = LB Hf R /N2 4721 10
1344| = ILE MR KT /NZ514 10
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1345| = LU E W T =K 1732 10
1346| = LU E R T =K 1734 10
1347 | = U E KR T =K 1735 10
1348 | = LU E W R T =K 1736 10
1349 | = LU E W R T =K 1746 10
1350| & LU/ 2 B 3 T = 58 9011 10
1351 LB R AERF.912 10
1352 E LB R A ERF1.918-1 10
1353| = LU B AR R ALEF#1.923 10
1354|E LB H R ALEFF1.876 10
1355 = LB AR R ALER #1.926 10
1356 = LU B A R ALER#1.929 10
1357 | & LU B B i T L BB #1.836 10
1358 E LB AR AL ERF1.837-1 10
1359 | & LU 2 B R T 40046 1661 10
1360 & LI 12 55 i T 404830 10
1361 & LU 2 B R T 4048203 10
1362 & LI 2 B i T 4048202 10
1363 | & LI 2 B 5 T 43048 160~ 1 10
1364 | = LU 2 B R i 4038594 10
1365| & LU IE B R 40486011 10
1366 & LU IE B R i 4048785 10
1367 | = LU W R T 38784 10
1368 | &= LB B R 40481611 10
1369| &= LU IE B R T 4048526 10
1370| = LB B R T 4048786 10
1371 E LB R R h R B F 1201 10
1372| = LB E TR F121-1 10
1373|E LB R Th R B F251-1 10
1374| = LU E R R H3E417 10
1375| = LU W R 4048457 10
1376| = LU IE B R T 4048458 10
1377 = LB B R T 4048459 10
1378| = LB B R T 4048268 10
1379 E LB R Th B F114-1 10
1380| = LB W Th SR BHF135-3 10
1381 E LB R h R B F 1361 10
1382| = LB R Th R B F321-1 10
1383| = LB W R th R B F322-1 10
1384 | = LU E W R T SR BHF 377 10
1385 = LB R Th R B F113-1 10
1386 = L B A K h SR B 2601 10
1387| = L B W R mh BB F260-2 10
1388 = LLI 15 Bl 3% Th 2R B $ 256 10
1389| = LLI I8 Bl 3 Th R B #6257 10
1390 = LLI & 5 3% Th 2R B #6258 10
1391| = LI B B 3 i SR BH $6259 10
1392| = L E MR R BB F 1371 10
1393 | = LB W Fa R 3191 10
1394| = LI I8 B 3% v 75 §2 320~ 1 10
1395| & LU I8 B 3% v 76 R 322~ 1 10
1396 & LLI I Bff 3% h 75 2 323~ 1 10
1397| = LLI I8 B 3 h 76 2 407 10
1398 &= LLI & 5 35 h 76 51 409 10
1399| = LU I8 B 3 v 76 R 6621 10
1400| = LI 8 B i T 40048269 10
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1401 | & L1/ 2 B R i 43048 180~ 1 10
1402 | = LU S B R i 4048 1781 10
1403 | = LI 2 B R T 430 48 1841 10
1404| = 1L Hjf 3% i 400351831 10
1405| = LU S B R i 40481791 10
1406 | = LU E B R 40481811 10
1407 | = LU S B R i 49048 1821 10
1408 | = LI IE B R T 40748 136 10
1409| = LI 12 B 35 T 490348 140 10
1410| = LU 2 B R T 404835 10
1411 | E I E R EF 1 5218 10
1412| = LU E B # £260 10
1413 | = LU B Hf R # 265 10
1414| = LR HR K T #5266 10
1415| = 1L E W R T # 5698 10
1416| &= LB B R T # £699 10
1417 = LU E Hf K i # £ 700 10
1418| = LB WK T # E753-1 10
1419 EILENET#E274 10
1420| = LI E W R E) | BT E47 10
1421 | = WL E W R E) | BT E48 10
1422| = L1 I8 W5 vh FE ) | BT FE54 10
1423| = 1L E MR T p Fr21-2 10
1424| = |1 8§53 v oh #7221 10
1425| = LB §f R h #7962 10
1426| = L B W R E) | BT E53 10
1427 = LU IE W5 vh £ BT 80 10
1428 | = LLEHp R £ h$7476 10
1429| = LU E W R h 7123 10
1430| = L1 B §5 i Hh #7556 10
1431 | = LU E Bt #7487 10
1432| = LI E W R E ) || BT ES51 10
1433| = LB W R E) || BT E52 10
1434| = LI 18 55 3 1 of $7960 10
1435| = LI 12 B 3 h f $796 1 10
1436| = LU IEHf K £ E7469-1 10
1437| & LI B # R £ P #4701 10
1438 | = LB B i b 5 $7485 10
1439| = LI I8 55 i h oh #5720 10
1440| = L1 B B i h p $762 10
1441 | = I E R T p 75 10
1442 = 1L EHp i 5 $7338 10
1443 = LB Bf K _E 73441 10
1444| E 1L E KT 7104 10
1445 | = LU B §5 R h #7109 10
1446 | = LU E MR R Fr117-1 10
1447| = LU 8 B i h op $557 10
1448 | = LI I8 H5 i h Hh #7558 10
1449| = |11 18 55 i h Hh #7559 10
1450| = LI 12 55 35 h o 75611 10
1451 | = LU E B T p $763 10
1452| = LI 8 55 3 h oh #7691 10
1453| = LI I8 B 3 h of #7307 10
1454| = 1L IR Hp % AP BF652-1 10
1455| = I E Hf R i h 71275 10
1456 = LI I8 55 35 1 oh 71300 10
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1457| & L1 2 85 8 h h #7395 10
1458 | & LI 18 Bff 3% 1 f $7.353-1 10
1459 | = LI 12 85 3% 1 of $7400 10
1460 & LI 12 55 3% 1 of $7269-1 10
1461 | = LU EHf R h #7272 10
1462| = LU S B 3 h op $7273-1 10
1463 | = LI 12 55 3 1 p £ 641 10
1464 | = LU 2 B 3 h op $7647-1 10
1465 & LI 12 5 3% 1 o $7648-1 10
1466 & LI 2 B 3 i p $7651-1 10
1467| = LU 2 85 K T p $7654 10
1468 & LLI 12 55 3% 1 o $7655-1 10
1469 | = LU EHf R T h #7672 10
1470| = L B W5 K P #7662 10
1471 | E B EH P EF416 10
1472|E LI B WK T P #7325 10
1473 | = LB §5 R h #7333 10
1474| = 1L E WK T p $7334 10
1475| & LI 18 55 3 v o $7402-1 10
1476|= L B 55 R h 2 7403 10
1477|E 1L E MR P Ep413-1 10
1478| =L E R KT p 414 10
1479| = LI B W KT F #7415 10
1480| &= LU B Hf R sh #7342 10
1481 &= LB §f i h sh #7295 10
1482| & LI E#h R 5304 10
1483 | &= LI 18§ i h Hh #7305 10
1484|= LU B Hp K H §7308 10
1485| = LB Hf K i EF310 10
1486 | = LU B Hf R h #7642 10
1487| = 1L Hf i 1 1 £71009 10
1488| = ILEH K T 71011 10
1489| = LI B Hh R  $71034-1 10
1490| = 1L EHF R T 774 10
1491 = LU E AR 2 $71359-1 10
1492|E ILERR R E)IIETE110 10
1493 | = L1 18 Hf i h th #7298 10
1494| = L1 8 B 3 h of $7320 10
1495 | = LU E B i p $71038 10
1496 = LLI I8 B 3% v o $7.355—1 10
1497 | = LU B B h op $5357-1 10
1498| = LU E W R p $71273 10
1499| = L1 B H5 i h h #7293 10
1500 = LLI I8 B 3 v o $7294 10
1501 | = LU B § K T T 128 10
1502| = LB Hf R T §81 10
1503| = LI E#5 K H T 182 10
1504| = ILEHR KT T H13 10
1505| = LU B HR R T~ o 14-1 10
1506 = L EHE KT TH16 10
1507 | = LB HRR T T 17 10
1508| = LB HRK T T H18 10
1509| = LB HR R~ 24 10
1510/ Z B RHEH782 10
1511 [ F LB # KT R $622 10
1512| = B R E 46681 10
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1513| = LU E W R R 672-1 10
1514| = ILEHF R TR 4678 10
1515| = LB B R T 3R 1 679-1 10
1516 & LI 12 B 35 i 2R R 6821 10
1517 | = LS B R i 3R §h 451 10
1518| = LU E W R TR 467 10
1519| & LI 18 Bff 3% i 3R 2520~ 1 10
1520| = LU 2§ T BE 51609 10
1521 | = LU EHf R R 51558 10
1522 & LI 18 Bff 3% 1 3R 25591 10
1523 | = LU W R R 5562 10
1524| &= 1L Hjf 3% i B3R 415631 10
1525| = LU B Hf R R 51566 10
1526| & I E R E 654 10
1527 | = L E TR 511 10
1528| E I E R E 512 10
1529| & LI I8 B 3 h 2R 95351 10
1530| = LU E B R R 51538 10
1531 | &= LU E B i 3R 604 10
1532| &= LU B B h 2R §p 5411 10
1533 | = LB W R R 5412 10
1534 | = LU E B 3R 2544 10
1535 | &= LU E B R T R 51639 10
1536 & LLI 12 B 3 T 2R R 6641 10
1537 | & LU B B i h 2R 1 6661 10
1538 | = LU E W R T 2R 6671 10
1539| & LI I8 B 3 i 2R R 6981 10
1540| = I E W R E 699 10
1541 (= LB #fE B §702-1 10
1542| = LB RHE 46631 10
1543 | &= LI Bjf 3% i1 R 1 7031 10
1544 (= LB Hf K th B 1 706-1 10
1545 | &= |11 Bjf 3% i1 B #1 709-1 10
1546 &= 1L 'E B R T B H1732 10
1547| 2 I E R E 835 10
1548 | = LI I8 B 3 T 2R R 6561 10
1549| E I B R E 6571 10
1550| = LU E B R T B R 710-1 10
1551 [E LB KT E$712-1 10
1552| = LB Hf R i B 47131 10
1553| = LB R TR 714 10
1554 | &= LI Bjf 3% i1 3R H1 7241 10
1555| = LB W R T R R 7811 10
1556| = LI B W R B 7851 10
1557 | = LU B B i T BR 51859 10
1558 | & LLI 12 Bff 3 1 2R 2 860 10
1559 | = LU IE W 3R R 7791 10
1560 = LLI 12 B 3 h 2R R 7261 10
1561 | = LU IE B T 3R 17331 10
1562| = LB B R T R A 757 10
1563 | = LB BT R 1758 10
1564| = LB HRR T R 767 10
1565| = LB AR TR 7711 10
1566| = LLE W R R 1736 10
1567 | & LU 2 B 3 i 3R R 7391 10
1568 & LLI I8 B 3 h 2R R 7251 10
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1569 | = LB W R T E 816 10
1570| & LI 12 Bff 3% i 58 R 780~ 1 10
1571 | = ILEHF R T E 796 10
1572| & LI 12 B 3 1 22 2 800 10
1573 | = LS B i 3R 8011 10
1574| = 1L Hif 3% i B H1 789—1 10
1575| & LI 12 Bff 3% i 2R §R 790~ 1 10
1576| = LUE W E T E 7911 10
1577 | = ILE R E 793 10
1578| = LU B R R 1795 10
1579| = ILEHf R R 51832 10
1580 & LLI 12 ff 3% 1 3R 1 8331 10
1581 | = LU W T 3R 834 10
1582 | = LU W R T R 51838 10
1583 | = LU IE AR R 51843 10
1584 | = |11 Hjf i i B H1826-3 10
1585 & LLI I8 ff 3% T 2R 1 8281 10
1586 & LLI 12 B i 1 2R 2 830 10
1587 & LLI 12 Bff 3 i 2R R 831 10
1588 | &= LU IE B R T R 51866 10
1589 | = LU E W R T R 1867 10
1590 & LI I8 B 3% i 28 1 8681 10
1591 | &= LU B B i T 2R R 8471 10
1592 & LI I8 Bff 3% v 2R 2 8481 10
1593 | = LU Hf R R 1853 10
1594 | = LU B B T 2R 28571 10
1595 | &= LB Hf R T R 51858 10
1596 & LLI I8 Bff 3 1 2R 1 8691 10
1597 | = LU/ I8 B 3 T 2R 2 870~ 1 10
1598 | = LU E W R T R 8711 10
1599| = LU E WK TR 874 10
1600| = LW TR H612-3 10
1601 | = LI B 3R 2694 10
1602| = LU B W R B 46951 10
1603| = LU E W R TR 747 10
1604 | = L IR 8 R T B 1750 10
1605[ = 1L Eff K B e 742-1 10
1606/ = LB MR R E 743 10
1607 & LLI 12 B 3% T 2R R 7441 10
1608|= LU B W R B 4 7461 10
1609 = LB EHEFT751-1 10
1610| = LB W R R 7512 10
1611 = ILEH R R+ 753 10
1612| = LB Hf R R 755 10
1613 = LB R E 7561 10
1614| = 1B HF KT R A817 10
1615/ LB RHEF819 10
1616/ = LB MR R E $820 10
1617[F LB EHE$821-2 10
1618/ LB KT EF818 10
1619| = LI 12 B 35 h 28 2 8361 10
1620| = LI B W R T B 837 10
1621|E BRI E 7341 10
1622| = I E W RHE 7351 10
1623| = LB RHEF 763 10
1624| = LLUE R TR 766 10
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1625| = LU IE B R T R 51846 10
1626| = LU ETHET16 10
1627 | = ILE W TR 7181 10
1628 & LLI 12 Bff 3% 1 2R §2 720~ 1 10
1629| & LI 12 B 3 T 2R 1 7831 10
1630| = LB B R R 17833 10
1631 & LI 12 Bff 3% i 2R R 7841 10
1632| = IUEWF KT T4 10 10
1633| = LU B T £ 40 10
1634| = LLUE WK T T 46 10
1635 | &= LU Hf T T 47 10
1636| = L2 BT T §55 10
1637 = LLUEH T T 89 10
1638| = LB W TR H612-2 10
1639 | = LU W R R 1653 10
1640| = LUE WK T T 62 10
1641 | = ILUE WK T T 463 10
1642| = ILUEWF KT FH75 10
1643| = LI BB KT F $83 10
1644| = ILUEHETH T84 10
1645| = LUE WK T = £1199-1 10
1646| = LU 2 B h = 41301 10
1647 | = LU E WK T = #3411 10
1648| = LU E W R TH = 1227 10
1649| = LLI 8 §5 i T A 506 10
1650 & LLI 12 55 3% Th A P503-1 10
1651 & LI 2 85 i T A FH509 10
1652| = LB Hf R AFH510 10
1653 | & LI I8 B 3 T K P9516-1 10
1654 | &= LIS Bf 3% i K F9574-1 10
1655| = LU B B h K224 10
1656 | &= LI Bjf 3% i K FH427-1 10
1657 & LLI I8 B 3% i K P9 4401 10
1658 | & LI I8 B 3 i K PH441-1 10
1659| = LLI I8 B 3 th K P9487-1 10
1660 & LLI 12 55 i i oh #7595 10
1661 & LLI 12 B 3% v o $7598-1 10
1662 & LLI 12 55 3% v e $7599-1 10
1663 & LI 2 B i h sh #7602 10
1664 | = LLI 12 55 3 1 o ¥ 1951 10
1665| & LU 2 B i i op $7213-1 10
1666 = LI 2 B i T B BR 41.86 10
1667 | = LIS Hh R B BB £1.87 10
1668| = ILIEM R AERFL122-4 10
1669| = ILIEMREH AERFL122-5 10
1670| = ILEMREH AERFL122-6 10
1671 | = ILHENEHRERAL124 10
1672| = LU E B R B4 #3891 10
1673| = LI 2 B i T 3R A £1.340 10
1674| = LU E MR R B A #3431 10
1675 = LU IE B K th 3 A 31,3901 10
1676|= LU E R R T B A A1454-1 10
1677|E L EMEHE#H120 10
1678|= LU B W K = #7155 10
1679|E LB R =EH57 10
1680| = LU E MR R =174 10
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1681 | = LU W Th = # #7267 10
1682| = I BB THE Z #1290 10
1683 | = LU B R Th = #x #7292 10
1684| = I B EHEL111-1 10
1685| = LU B # R 18111440 10
1686| & LLIIEHp R I 123 10
1687 | = LUE W _EFIEH25 10
1688 | = LU IE B L FOEH 39 10
1689 | = LU W R = #&x #1218 10
1690| = LU E W R = #& #1219 10
1691 = LI BB = & 3222 10
1692| = LB Hf R Th &= #x #1246 10
1693 | = LU E B Th = #2 #1256 10
1694| = LU E BT = #x#1240-1 10
1695| = L B W R EA 22571 10
1696| = L B W R T EA#2257-4 10
1697| = L B B R h EE##§2259-5 10
1698| = LI B B R Th 47522596 10
1699| = L B A R E 47522601 10
1700 & LI 12 B 3% T £8 AN401-1 10
1701 | & LI & Bff 35 h 5 hn402 10
1702 & LI & 55 35 h 1 10406 10
1703 | & LLI & Hff 35 h 5 hn408 10
1704| = LI & Hff 35 h 5 h0409 10
1705| = LU W T i AN410 10
1706 & LLI 12 B 35 T 8 in423-1 10
1707 & LU 8 B i h B hn424-2 10
1708| = LI 8 B i h B in424-7 10
1709| = LI &8 Hff i h 5 hn424-8 10
1710/ E W B W R | 4271 10
171 | SRR E®EN428-2 10
1712(E LB AR A EFFL95 10
1713| = LU E B R T FER 41,96 10
1714 = 1LEHR R R BERALI7 10
1715| 2 W E W R A BRF198-1 10
1716| = LU E# E T i = =280 10
1717 = 1L E B R ER 4162 10
1718| = LUE Hp R AL ER #1.64 10
1719 = LU E B h FER 4165 10
1720 = LB Hp R ALER 3166 10
1721 | EILE R T R ERAL72 10
1722| = 1LE W T R ERAL73 10
1723 = LB Wi A ER #1337 10
1724| = L E MR ETHh A ERAL574 10
1725\ = LB Hf R R ER #1873 10
1726| = LLUEH R L ERAL874 10
1727|= LU E W5 th ALER X956 10
1728| = I AR FBRAL179 10
1729 = LB #f T BB AL370 10
1730( = |11 B Hf i  F BR #1253 10
1731 = LB H5 R B BB AL.254 10
1732| = LU B B i T L BB £1.256 10
1733[ = 1L B i i i F BR #1330 10
1734 = LS Hf T A BB #1335 10
1735| = LB B K h ALER#1.4070-2 10
1736| = LU E W R A ER #1727 9
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1737(E LB MR A EFF1.738 9
1738 = LB AR R ABRF1.196 10
1739 E LB AR AERFL197 10
1740 = LB 85 R ALEFF1.706 10
1741 E LB 85K A EFF1.709 10
172 E LB R RERFLTI 10
1743|E LB R AERFL737 10
1744 = |12 Hf 3% th A BB #1200 10
1745 LB W R A ERF1.542-1 10
1746 = LB H5 R ALEFF1.583 10
1747|E 1L E MR T A ERFL631 10
1748 = LB #f R ALEFF1.635 10
1749| = LB H5 i h I BB #1.636 10
1750| &= LU 2 B i T L BB #1.638 10
1751 | & LB B i L BB #1639 10
1752| & LU 2 B i h F BR #1.642 10
1753 | &= LB H5 i h 7L BB #1804 10
1754| = LI 2 H5 i T F BB #1.805 10
1755| & LU 2 B i T T BB #1.853 10
1756 & LI 2 B i T F BB £1.856 10
1757|E I E R RERHL214-2 10
1758| & LI 2 B i h F BR #1.343 10
1759 | = LU E W T FLER #1367 10
1760| = LU IE B T HERA1.851 10
1761 & LB H5 7 BB #1904 10
1762|E ILEMFE T A ERFL910-1 10
1763 | & LI 12 B 38 h S 4224~ 1 10
1764| = LI 8 55 iR T EE 45232 10
1765 & LI 2 B i T fEE 45233 10
1766 & LLI 12 B 3 h S 4244 10
1767 | = LU B B R T 4247 10
1768 &= LI 12 Hff i T fEE 45248 10
1769 = LI 1 Hff i T fEE 45249 10
1770| = LU 2 B Th 4231 10
1771 | = LU E W Th 4% 1606-1 10
1772| 2 I E W R T 1609 10
1773| =L E R T E1610 10
1774| = LLE W5 vh FE ) I BT X 1IE 3371 10
1775| = LLE #f i i I ) || BT % 1F 340 10
1776 = LU EHf K h ) || BT X IE 3411 10
17772 LW B Bf K ) || BT X 1F 3431 10
1778 = LLE Hf ;K v £ ) || T < 1F 345 10
1779 = ILE/F KT E )| BT R IE373 10
1780| = LLE /£ )| | BT R IE 372 10
1781 ILEHFEhE )| BT K IE21-1 10
1782| = LU EHp T E) I |BT R IE23 10
1783 = LS B T ) || BT K 1IE 24 10
1784| = LB HRE T E) | BT K IE25 10
1785| = LS HpE v £ ) || BT K 1IE 29 10
1786| = LU E R IE )| BT K 1E87 10
1787| = LI B W R ) || BT X 1E 1001 10
1788| = LB W R T ) || BT K 1E 161 10
1789 = LB R £ )| | BT R 1E 162 10
1790/ = LU B Hf K FE ) || BT K 1E 163 10
1791 | = W E W R E) || BT K 1E93-1 10
1792| = LB B 5 vh £ ) 1| BT K 1F 94—1 10
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1793]'= LB 75 3% th £ ) || BT K EE 95-1 10
1794|= LB B R T FE ) || BT X 1E.86 10
1795 LB B h £ ) || BT K IE 434 10
1796 | = LU W R A H 1254 10
1797 | = LU E B R Th A 1445 10
1798| = LI E AR A 1569-1 10
1799| = L EHF KT AMH1570 10
1800 & LLI 12 ff 3% i A FH 3351 10
1801 | &= LI Hf R T A 443 10
1802| = LU E W R AH1270 10
1803 | = LU E W R AH1573 10
1804| = LB HF KR T AH1574 10
1805 & LI 2 B i T A FH 349 10
1806 & LI 2 B i T A FH 3571 10
1807| = LI B W R A 995 10
1808 & LLI 12 ff 3% Th A FH 1446 10
1809 | = LU Hf R A H 1447 10
1810| = LUEHf R A FH 1461 10
1811 | EILEMN KT ABI514 10
1812| = ILE W R AE1271 10
1813| &= LU IE B i T A FH 1460 10
1814| & LLI I8 B 3% h A FH 3461 10
1815| & LU B B i T A FH 6581 10
1816 & LI 12 B i T A FH 6591 10
1817 = LLEHf R AEH785 10
1818| &= LB B A 1021 10
1819| &= LB Hf T A FH 1090 10
1820| = LU E B R A 1022 10
1821 | = I EW KT ABE1510 10
1822| = LU E MR AH1513 10
1823 | = LUE W R AEH 1630 10
1824| = LU EWRETH AE1631-1 10
1825| & LI 12 B i T A FH 1466 10
1826| = LU IE B T A FH 1603 10
1827| & LI B W R A H334-1 10
1828| = LU E W KT AH1516 10
1829| = LU B B i T A FH 3471 10
1830| = LU W R AEH 1464 10
1831 = ILIE Hf iR i A 1023 10
1832| = LI 2 B i T A FH 1465 10
1833 | &= LI\ Hjf 3% i1 A FH 320-1 10
1834| = LB Hf K i A 321-1 10
1835 | = LU B B i T A 945 10
1836 | = LUIE W R AEH1079 10
1837| = LUE W R A 1685 10
1838| = LU W T AEH 1687 10
1839| = LLUE W KT AEH1078 10
1840| = LU E B T A FH 1686 10
1841 | EIEMRHARH1688 10
1842|E I E W R AEH1096 10
1843| = LLUE W R AH1107 10
1844| = ILUE KT AEH1106 10
1845| = LB B A EH 1601 10
1846 | = LB Hh T A EH 1097 10
1847 = LB W R AEHT736 10
1848| = LLIE W AEHT792 10
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1849 | = ILE W R A 1528 10
1850| = LU IE B R T A FH 1533 10
1851 | = LU E W R AH1534 10
1852| & LU 2 B i T A FH994 10
1853 | & LLI 12 ff 3% i A FH 3361 10
1854| & LI E W R AH1373-1 10
1855 | = LU W R A 1108 10
1856 | & LLIE AR A 1109 10
1857 | & LI 2 B i T A 1060 10
1858| & LI E W R A H1069-1 10
1859 | = LU E W R A 1076 10
1860| = LU EHf R AH 1077 10
1861 & LLI 12 Bff 35 Th A FH 680~ 1 10
1862| = LI E W R AH3633-1 10
1863| = LB WK A 3633-2 10
1864| = LI E WK AH3634-1 10
1865| & LU B #f R A FH3637 10
1866 | = LI BB R A H3638-1 10
1867 & LLI 12 Bff 35 T A FH 3640 10
1868| = LU E Wi R AH3641-1 10
1869| = LI B WK A 3642-2 10
1870| = LU W R AEHT62 10
1871 | = ILE R AHT78 10
1872| = LLEHf R A EH786 10
1873 | = LU E B T A FH 1602 10
1874| E LI E Wi R AH363 10
1875| = LUE W R A 367 10
1876 & LLI I8 B 35 Th A FH 3691 10
1877| = LLE W R AHIT73 10
1878 | = LUE W AEHI71 10
1879| = LB B T A EH982 10
1880| = LU Hf A EH84 10
1881 | = LU Hf R A HS87 10
1882| = LU IE B T A FH 88 10
1883 | = LU IE B R A FH93 10
1884 | = LU Hf R AEHIT 10
1885 & LLI I Hff 3% i A< FH 350~ 1 10
1886 & LLI 12 B 3 T A FH 353~ 1 10
1887| = LI E W R A H 356 10
1888 | = LLUIE W KT AH18 10
1889 | = LU Hf R A H27 10
1890| = LB A& i A FH574-1 10
1891 | = ILE KT AH101-1 10
1892| = LU W R AEH102 10
1893 | = LLEHh R AEH 106 10
1894| = LI 8 B i T A EH90-1 10
1895| = LU IE B T A EH96 10
1896 = LI 2 B i T A EH99-1 10
1897| = LI I8 B i T A EH 20 10
1898| = LUIE W R A H4 10
1899 | = LUE W R AH43 10
1900| = LU E W R A EH44 10
1901 | = LU Hf R A HS 10
1902| = LB W R AH6 10
1903 | = LU B B Th A FH 6231 10
1904| E LU EM KT A AL1-1 10
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1905| = LU B B h A A1.2-1 10
1906 | = LU E WK T A £1.2-4 10
1907 | = LB W R ch #1181 10
1908| = LU E W R ch #1191 10
1909| = LU B B i T eh 1841 10
1910| = LU E WK H )| BT & B509 10
191 | EILEEHEIIRTE E510 10
1912|ZIHERETH IR & B512 10
1913|EILERETH )BT B513 10
1914| = LB HF K h ) I BT & B514 10
1915|E B EHmEIITE111 10
1916| BB ETE)IETEE112 10
917 ELEMRETE)IESTESE114 10
1918| = U EMRETHEJIIBTH B&115-1 10
1919 EIHEMETHEJIET S E115-2 10
1920 L EFFEHE)IETS E116-2 10
19212 1L EH5 K h £ )BT & E120 10
1922 = 1L E 75K h £ ) I BT & £2016 10
1923 = LB HF K th FE ) || BT = 85383 10
1924 LB B h ) || BT = B7384 10
1925| = LI 12 B 3 T $BA 340 10
1926 & LI 12 B 3 th $TAA 3641 10
1927 = LB W R h $71421 10
1928| E LI E W R EAN1109-1 10
1929| E B RHEAM1110-1 10
1930| E B RHEM1I112-1 10
1931 | E B RHEM1113-1 10
1932 | E B EHmE|EMN1113-2 10
1933|E I B R EM1114-1 10
1934|E BN R EM1119-1 10
1935|E I E W Rt EAn1120-1 10
1936| = LI E W Rt An1150-1 10
1937 | E B R E@EMI151-1 10
1938| = LI E WK e AN 1380-1 10
1939| = LU/ 2 B i T B AN 1382 10
1940 EEIJJLrEJJ‘i,&'r B 01383 10
1941 ZE?IJJFREJE;‘&HEJJDHM 10
1942| = LU E R ETh E 013511 10
1943 | = LU E W R T F AN 1385 10
1944 Z 11 EH5 R &5 /0 1188-3 10
1945|E I E W R E AN1068-1 10
1946 ZE?IML%EJE’&F?EJJMOG&)% 10
1947 | = ILE W T AN1093 10
1948| = I E W Rt e 110941 10
1949| = I E W R E A 1094-2 10
1950| E I B R B4 £476 10
1951 | E I B R EAM1061-1 10
1952| = LU R AN1143 10
1953| E I B R EA1187-1 10
1954| E I E W R An1188-1 10
1955| = LI B B i h . = 2 308 10
1956| = LU E MR R me =301-1 10
1957 E LB R = E306-1 10
1958| = LI E MR ETh = E307-1 10
1959| BB R = E469-1 10
1960 = LI &8 55 i T B hn948 10
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1961| = LI E W Rt AN1450-1 10
1962| = LI E W R E 14521 10
1963| = LU E W Rt e AN 14541 10
1964| = LI E W R e AN1455-1 10
1965| = LI B W R e AN 1455-3 10
1966 & LI 12 B 35 i B An96 71 10
1967 | = LB B R T i hN967-2 10
1968 | = LB Hf R EF 41 5394 10
1969| = LI 2 55 i Th BF £ 456 10
1970 = LU B AR R h 741 54581 10
1971 E LB AR Er A 5459-1 10
1972| & LI 18 B 3% T £ N8 821 10
1973| = LI I8 B 3 T £5 N8 841 10
1974| 2 LI E W KT & AN1002-1 10
1975| = LI E WK & AN 1005-1 10
1976| = LI E WK &8 AN 1008-1 10
1977| 2 I E W KT & AN1009-1 10
1978| E B RHEMN1012-1 10
1979| & LI I8 B 3 T 8 AN994-1 10
1980 & LLI 12 5 3% v F8 AiN999-1 10
1981 & LU/ 2 B 3 i B An941-1 10
1982 & LLI I8 Bff 3% v F8 AN943-1 10
1983| = LI E W R EAN1153-1 10
1984| & LLI I8 B 3% T 8 AN909-1 10
1985 & LLI I Bff 35 h 1 An909-2 10
1986 & LU/ 2 B i i i An910~1 10
1987| = ILE KT EAN914 10
1988 = LLI 12 B 3 T B 921 10
1989| = LI I8 B 3% T 8 AN923—1 10
1990| = LI\ Bjf 3% i1 i AN 9241 10
1991 | = LU 2 B i T fEE 4% 1658 10
1992| = LI I8 B 3% T FEE 4% 1659 10
1993| E I B R EM1671-1 10
1994 E LB ET RS E299-1 10
1995| = I EMEh e E470-1 10
1996 E B E = E472 10
1997 [E LB E T e E474 10
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241 |ZEILE THFHIIAAZRTHE1602 15
242 | ZEILE THFHIIAAZRTHE1799-1 15
2493 E IE T #)IIEBA ERT#E 1801 15
2494 | EIUE T EFA ZRTFTE376 15
2495(E IR T EBAZRTFE379-1 15
2496 | = LI T #r)I| ERA ZERT#7E 382 15
2497 | E LR F#)IAAZRTHE435-1 15
2498| = LU T#r)IBFA E BT #E435-2 15
2499| = LUIE T EFA =BT #TE435-3 15
2500| ZE IUE F#H)IIAAEZRTFE435-4 15
2501 (= IR T &) EBA ZEHRT 1 E889-1 15
2502 = LI T3 BB A ERT# E889-2 15
2503| = LR T3 BB A ZERT# E889-3 15
2504| ZE LR TR AZRTFHE1087 15
2505| E IR T#HIAAZRTHE1529-1 15
2506| = LR T#)IALAZRTHE1549-1 15
2507 | ZEIUE T#HIIAAZRFHEIT2 10
2508| ZE LR T#F)IALAZR/THE1150-1 15
2509| E ILE THIIEBAERTEE1151 15
2510|ZE IR THFHJIAAAZR/THE1155-1 15
2511 [EWE T #)IEBAEZRTFE 1239 15
2512|E U E T HJIEFA ERT T 11429 10
2513|ZILE T#FHIIEAEZERTHT 736 10
2514[E B TF)IEBBAZRTHE A+ E 108 10
25515|EIUETHIIAAZHER 2125 10
2516| = ILE THJIEBAZERTHILLI1151 10
2517 (S E T#7)IEBAZERTAMLL1152 10
2518|Z ILE TH IR AERTHILLI1154 10
2519|E U E THJIBFAERTFE X235 10
2520/ = LUE TEIEFAERTFE X 236 10
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2522| = ILE T #FJIARA ER/T T X 250 10
2523| = ILE T#FHIIAAERT T X252 10
2524| = ILE TF#HIIAAERT T X253 10
2525|Z IUE T #h)I AR A ZERTHLL1153 10
2526| = LLE T #FJIAFAERT T X254 10
2527 = LLIE T #7)I BB A ERT 3 X 86 10
2528(= LLIE T3 BB A ERT T X 87 10
2520|ZILE FHFHIIAAEZERTTTXA12 10
2530| = LUIE T #F) I BB A ERT iR 407 10
2531 | = ILE T AL A ERT R 408 10
2532| = ILE T #FJIARA ERT %R 404 10
2533[E IE T #r)IIEBBAZERTHF 747 10
2534 = LI T #)I BB A ZEHT/V 42338 10
2535(= LR T #)I BB A ZEHT/ME2 339 10
2536(= LB T3] EBA ZHT /M2 340 10
2537 = W T ) EBA ZEHRT /N2 341 10
2538| = LLE T #hJIEFAERT /N 23441 10
2539( = IR T3 BB A ZEHT/NE2 369 10
2540 = LB T )1 EBA ZEHRT /N2 371 10
2541 | E LR T EBAERT/NE2374 10
2542| = ILE T #FJIIEAERT /N 23751 10
2543| = ILE T #FHJIIEAERT/NZ2376-1 10
2544| = ILE T #FJIEAERT/NZ2379-1 10
2545| = ILE T #h)IERAERT/N2368-1 10
2546 | = LB T AR A ERT/N42368-2 10
2547(E B T EBAZRT/N42370 10
2548 | EILE T HIESAERTHE 764 10
2549|E U E THJIEAERTEHF 765 10
2550( = L2 T 31 BB A ZHT_E $760-1 10
2551 (= IR T #)IEBA ZEHT L5761 10
2552 EEuJLr‘F¥J?JIIEBJ\%HTﬁ7<109—1 10
2553| = ILE T#FHIIEAEZERTF AKRI70 10
2554 = 1B T )| BB A ER] S A< 9661 10
2555|= LLE T B A ER/TH A 1028-1 10
2556 = LI IR T 1) I BB A ZEHT &5 K 9671 10
2557 [E B T#F)IEBBAZRTFE AR1017 10
2558| = ILE FT#H)IERAERTFH A1019-1 10
2559|E ILE FT#)IERAERTF A1018-1 10
2560| Z ILE THJIABAZRTH 137 10
2561(= LIIE T #7)IERA ZRT_E$71043 10
2562| = LLIE T#H) I BB A ZERT _E$71051 10
2563 | =E ILE THJIABA ERT E /1221 10
2564|=E ILE THJIIABA ZRT E /1231 10
2565|ZEIUE THIIIAAZR T LFF14-1 10
2566(= LUIE T #7)IIBRAZERT F EE535 10
2567| = ILE THIIEFAERT EEF1044 10
2568(= LR T #7)IER A ZERT_E$F1045 10
2569 | = LUE T #)II AR A ZHT_E$$1050-1 10
2570| E IUE T #H )1 ABA Z=HT L $71050-2 10
25 | EILE T#h)IIAAZEHT_E$51580-1 10
2512|E LR T #h)IALAZEHRT _E$71583-4 10
2573 = B T #)I BB A ZEHT_EF71581 10
2574|E LR T #h)IALA ZEHT _E$$2730-1 10
2575 | E LR F#JIALAZERTET 133 10
2576| Z LR T #)IAAZRTE T 136-1 10
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2607 S LB FET)II ERA ZRT & (970~ 1 1
2608 S 1L 5 T 27| ERA Z BT & A568-1 0
2609| = LHE THIEFAERTF AR682-1 5
2610] 2 LB R 2712} A EBTE K685 0
2611 [E LB R 2128 A EBTE A686 0
26 2SR T2 E A BB E A 738 0
2613 ZE?IJJLER‘F¥J?JIIEB)\¥HT§E7<781—1 5
2614 ZE?IJJLER‘F¥J?JIIEB)\§HT§E7<781— 1
RN SE A bN | b 0
2616|E L E THJIEAEZRE L6 5
2617|ELE THJIEFAERTH K569 0
2618|ZILE T#)II BB A ERTH A570 1
2619 E L E R 2T Bl A EHTE K684 0
2620 BB F 2B A EETE A739 0
26012 LB R 21| 25 N B AT A2030 0
2622] 2 IIE R 31| 2 A E AT A 2044 0
2623 :E.SIJJE‘F%é)ﬂIIE[S)\EEHTE'?IEK2045—1 T
2624] S LB R 37)1| 2 N E AT 2093 1 0
2625|2 LL B R 31| 2} A E AT B A 2649- 0
2626] 2 B R 31| Z N E AT E A 2279 : 0
2627 |2 LB R 31| Z N S AT A 2354 0
2628 ?é?ﬂJFfF%ﬁ?JHEB]\EHTiKB?S 1 0
2629| 2 LB R 31| 2 N E AT A 2403 0
2630 EMET?%JHEH]\EWEKBQZ— 0
2631 gguu§§1=%ﬁu|25J\%%mré%7<2392—; i0
2= ILE THIIIAAZATESGS 18

47



pilEdis

=RAMF AR S S EOE (BE)

No. ith £, Hth 2% 1 SR HIR ()
2633|E ILE THIIAAEZERTFARIT 10
2634|Z ILE THIIAAERTFAR1054 10
2635|= LLE T #)IAFAERTEH K995 10
2636|= LLE T #)IAFAERTH AK996-1 10
2637| = ILE T#FHIIEAEZERTF K1047 10
2638| = LLE T#FJIIERAERTF AR1060 10
2639 | E LR THIIIAAZRTFTAKR1122-1 10
2640| ZE LR T#FH)IAAZERTF AK1093-1 10
2641 (= IR T #)IEBAZEHTH AK1094-1 10
2642|E ILE THIIAAZERTFAR1094-3 10
2643|ZILE THFHIIAAEZERTFAR1118 10
2644|EILE THIIAAZRIFTAR1121-1 10
2645|E LR THIIAAZRTFAR1116-1 10
2646|E ILE THIEBAEZRTF AR1290-1 10
2647(= IR T3 EBAERTH AK1322-1 10
2648|EILE THIIAAEZERTFAR1322-3 10
2649| E LR T#FH)IAAZERTF AK1095-1 10
2650| Z IUE THJIABAZERTFAR1095-3 10
2651 | EILE THIIIAAEZRT T AR1242-2 10
2652| EIUE THIIAAEZRTFAR1242-3 10
2653| = ILE THFHIIIAAERTF AR1243 10
2654| = ILE T#FHIIEAERTH AK1648 10
2655|E IHE THIEBAERTF AR1649-1 10
2656|= LLE T#)IAAERTE & 215-1 10
2657 | EILE THIIIAAEZRT T AR1649-2 10
2658( = LI T3 BB A ZEHRT K 1E856 10
2659( = LIIE T #7)I BB A ERTK4ES57 10
2660(= LR T #r) I BB A ZRTHIN17 10
2661 (= LE TF)IBBAZBRTHEIN715-2 10
2662| = LILUIE TI/IAFAZRTEINT18 10
2663| = LR T/ AR A ZRTEIN753 10
2664[= LR T 7)1 ERA ERTERIN49 10
2665(= L2 T 371 BB A ZRTHIN50 10
2666 | = LLUIE T AR A ZRT R IN573-1 10
2667 (= LI T#)IEBA ZRT B IN575-1 10
2668| = LLUIE T #TJII AR A ZRT R IN616-1 10
2669(= LI T #7) I BB A ZERTHIN51 10
2670(= LB T #7)IERA ERTERIN52 10
2671 (= IR T &) EBA ZERTHIN54 10
2672 = LB T3 EBA ZRTH 1362 10
2673|E LR TH)IAAZRTEIM1442-1 10
2674[E IE T #)IEBAZERTEIN1478 10
2675|ZILE TH)IALAZRTEIN1479 10
2676| = ILE THJIAAZRTERIM1594 10
2677|=ZILE T#FH)IIAAZRTEIN557-1 10
2678| = ILE T#)IALAZRTEIM1723-1 10
2679|Z ILE T#FHIIEAERT TR 26 3
2680| = ILE TH I BB AERT#FR61 3
2681 | = IR T#)IEBA EBT 8 FR197-2 3
2682| = ILE THJIAAEZRTHFR267-1 3
2683| = ILE T#H)IIALAEZERT#HFR315-1 3
2684 = LB T 371 EBA ZERT 48 FR262 10
2685 | E ILE THIIAAZR FEREF751-1 10
2686| = LLUE T#HJIIALAZRT FEREF752-1 10
2687 (= LI T#)IIEBA =BT F AR FF753-1 10
2688| = LLE T#H)IIALAZHT FERFF754-1 10
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2696 = LI T #r) I EBA ZHT 18 2681 10
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2698( = IR T3 BBA ERTE 5273 10
2699 | Z ILE FHFHIIAAEZEREH 275 10
2700( = IR &) BB A EHTH AK2958-1 10
2701 [E WIE T EBA ZHT— 152021 10
2702[E BT EBAEZRT—TF372-1 10
2703[E BT EBBAEZRT—TF794-1 10
2704[E BT EBBAZRT—TF327-1 10
2705| = LLE T AR A ERT— 158441 10
2706| E ILE THIIAAZRTERIM74-1 10
2707|Z LR T #h)II A A EHRTEIN308 10
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2709| EILE THFHIIEAERT R 7-1 10
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24| EILE THIIIAAEZRTER64-1 10
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2716|EILE T#H)IIAAEZRTEF 1481 10
2N ELUETHIIAAZATERE149-1 10
2718|E LR T AL A ZERT R 150-1 10
2719[E R TF)IEBA ZERTH[H 1561 10
2720( = BT EBAZRTEIN780 10
2721 [E BT ) EBAZRTHIN798 10
2122|ZE LR T#H)IIAAZRTEIM1425-1 10
2123|E LR TH)IALAZERTEIN 1486 10
2124|ZE LR T AL AZERTEIN 1487 10
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2737|ELE T ERAERTE 142 10
2738|E U E THJIEFAERTE 283 10
2739 | EILE THIIEBAER 53221 10
2740| EILE T H I AR A ERT 54331 10
2741 [EILE T #)II BB A ERT 5 #5771 10
21| EILE THIIIAAEZER] = 3884-1 10
2743 E IR T #)I11 ZBA =81 T 8k $7408-1 10
2744[E LB T ) EBA ZEHT T SR FF6-1 10
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2745|ZILE TF#FHIAAERT T 8REF7-1 10
2746|Z ILE T #FHJIAAERT T R EF9-1 10
2147 |ELE THIIAAZERT FEREF416-1 10
2748|E LR TH)IIALAZERT FERFF441-1 10
2709| E LR T#) I ARA EHBT T B F7446-1 10
2750| = LR T #) 1 ARA ZEHBT T B 74481 10
2751 [EIWE T EBAZHT T AR EF722-1 10
2752|E LR TH)IIAAZERT FEREF105-1 10
2753| EILE F#FHIIAAEZER T EREF107 10
2754[E ILE T ) BBAZHT T AR EF168-1 10
2755|= LLE T )11 AR A EHT E I 400-1 10
2756| ZE LR TH)IAAZERT FEREF106-1 10
2757 | EILE THIIIAAZR FEREF116-1 10
2758 | E LR THIIIAAZR FEREF127-1 10
2759 | E LR TH)IIAAZERT FEREF129-1 10
2760| Z ILE T #H) I ALAZERT FERF7138-1 10
2761 | ILE T#H)IEBAERT T 87248 10
2762|ZILE THFHIIAAER TEREF192 10
2763|EILE THIIAAER TEREF193 10
2764|ZEILE TH)IIAAZERT FEREF299-1 10
2765|= LLE T #)IEFAERT T 8 E7351 10
2766|= LLE T ) EFA ERT T 8RE7354 10
2767 = LI T3 EBA ZHT E 153031 10
2768|E LR T#H)IAAZER 5 £285-1 10
2769| E LR T#HIIAAZR S E286-1 10
2770| Z ILE T #FHIIEAERT S £300 10
217 (BB T EBBAZRT 53141 10
2172(E LB T#)IEBA ZEHBT E 153521 10
2773 ZE?IJJL%‘F¥J?JIIEB)\§HTE%134—1 10
2174 EILE THIIIEBAEZERTSE135 10
2775(E IE T EBA ERTEE R1 1 10
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2777[E L L.—'F%J?JIIEB)\%HT'FEEEﬂQ? 1 10
2118|EILE THIIIAAZER S E13-1 10
2779(E 1L L%‘F%J?JIIEBJ\%HTE%OH 10
2780| ZEILE T#FHIIEAER S E186 10
2181 [EILET#HI)IEBAZRT S F% 195-1 10
2782| E LR THJIIABA ZEBT AR F128-1 10
2783 | E LR THJIABA ZERT R F166-1 10
27184 | E LR T#F)IALAZERT R BR/\58-1 10
2785 | E LR T#FJIALAZERT R BER/\59-1 10
2786 = LR T #) I ZBA Z=HT_E R $7456-1 10
2787(E LB T ) EBA ZEHT_E fRF7496 10
2788 = LB T 1) BB A ZERT_EREF497 10
2789( = LI T3 EBA ZEHT_E R FF506 10
2790( = LB T #r)I BB A ZHT_E SR FF508 10
2791 [E IR T EBA ZHT L AR EF477-1 10
2792[E IR T EBA ZHT L BR $7478-1 10
2793 | ZEILE T #H I ARA ZHT _E B #4941 10
2794(E LB T EBA ZERT LR FF574 10
2795(= WIE T &) BB A ZHT_E AR FF811 10
2796 = LR T #) I EBA Z=HT_E B $7883-1 10
2797(E B T #)IEBA ZEHT_E SR F7898 10
2798( = LB T #)IEBA ZEHT_E fR F7899 10
2799 = LB T &)1 EBA ZHT_E SR FF901 10
2800[ = LB T 371 BB A ZHT_E fRFF905 10
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2801(Z LLIE T #7)I BB A ERTHE R 29 10
2802 LLIE T #)II BB A ZERTHEREI0 10
2803[E IR T #) I EBA ZERTTEH218-1 10
2804| Z ILE THIIAAERTEER227 10
2805|= LLE T A AERT R 2531 10
2806| = IUE THJIIABAERTEER31-1 10
2807 [EIIE T #r)IBRAERTHEES1-2 10
2808[ = IIIE T #7)IERA ERTHEEI1-3 10
2809 = IR T #r)IBBAERTHEES1-4 10
2810[E IIE T #r)IBRAERTHEES1-5 10
2811 [EIET#)IEBAEZRTEEI1-6 10
2812|EILE THFHJIABAERTHRE62-1 10
2813|E IR T #H) I ABA ZEHT L 8 #71258-1 10
2814|EIUE TFIEIAZRT EEREFHTT6 10
2815|E LR TH)IIAAERT L EREFFR77 10
2816|E LR TH)IIAAZERT LERFF#778 10
2817[EIWE T EBAZHT E AR EFHT147-1 10
2818|E LR T A A ERT L ERFF 57166 10
2819|E ILE T #h)I AL A ZEHT L8R EF$7208-1 10
2820(= LI T ) ZBA =81 _E B B #1302-1 10
2821 | E ILE T #h)I A A ZEHT L8R EF$7209-1 10
2822 = IR T ) EBA =81 _E B B #3041 10
2823 | E LR T#IAAZRT LEREFFR115 10
2824| EIUE T AFAZHT EEREFHT152 10
2825| = ILE F#FIAAERTEH 129 10
2826| = ILE THFHIIEAEZERT/NMEF 106 10
2827(E IE T#)IEBAZRT/NMEF 110-1 10
2828| E LR THJIAAZRT/NMNEF 136-1 10
2820|EILE TF#FHIIEAEZERT/NEF 748 10
2830| E LR T#FHJIAAZRTHE2638-1 10
2831 | EILE T#FHIIEAEZER/NMEF 107 10
2832|EILE THFHIIEAZERT/NMEF 109 10
2833[E IIE T #)IIEBBAZERT/NEF 185 10
2834 E LB T #)IIEBBAZERT/NEF 186 10
2835[E ILE T #7)IBRAZERTEILFT16 10
2836 = LR T &) BB A ZERTEILET17 10
2837[EE T#)IEBAZRT/NMEF311-1 10
2838| E LR THJIAAZRT/NMEF315-1 10
2839( = IR T #)IIEBA ZRT/ME F 330-1 10
2840(E ILE T #)IIEBBA ZRT/NMEF 362-1 10
2841 [EIE T EBAZRT/NMEF 3631 10
2842[E LTI EBA ZRT/MEF 332-1 10
2843 E IR T ) EBA ZRT/MEF 3331 10
2844 = LB T 1) BB A ZERT/NEF 386 10
2845| E LR THJIARAZRT/NEF 3871 10
2846 = LB T #)IIEBBAZERT/NMEF679 10
2847(EE T#)IEBBAZRT/NMEF 1513 10
2848 E LR T ) BBA ZRT/MEF 1520-3 10
2849 E LB T #)IEBA ERT/MEF 1528-1 10
2850(E LR T #)IIBBAZRT/NMEF 1536 10
2851 | EILE THIJIAAZRT/NEF 1537 10
2852|E LI T ) BBA ZRT/MEF 1553 10
2853 E IR T ) BBA ZRT/MEF 15542 10
2854 = LR T ) I BBA ZRT/NMEF 1555-3 10
2855 | E IUE THJIARAZERT/NMNEF 1563-1 10
2856 = LR T #)IIBBAZRT/NMEFE 1515 10
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2857[E ILE T BBAZRT/NMEF 1538 10
2858| E LR T#)IALAZERT/MNEF 1546-2 10
2859 = IR T #)IBBA EZERT/NMEF 1547 10
2860( = L2 T BBA EBT/MEF 15541 10
2861(= LR T3 EBA ZHT— 15300 10
2862(= LR T #)I EBA ZEHT— 15340 10
2863| = LLE T#FHJIAFAEZERT—TE341-1 10
2864|= LLE T ) AR A ERT—15346-1 10
2865(= LI IR T3 EBA ZHT— 15301 10
2866|= LR T #1) I BB A ERT— 15475 10
2867 (= IR T #)IIBBAEZERT—T5476 10
2868| = LR T3 BBA ERT— 15478 10
2869| = LR T #)IIBBAEZERT—15479 10
2870| = LLE T ) AR A ERT— 154801 10
28T | EILE T#FHIIAAER—TF418 10
2872|ZILE T #FHJIAAERT—T5648 10
2873| = LLE T #hJI AR A ERT—T1E545-1 10
2874|ZILE T AAERT—T5646-1 10
2875|ZEILE THIIEAERT—TE5647 10
2876| = LLE T#FHJIAFAERT—T5669 10
2877|EILE TF#FHIIAAER—TE651-1 10
2878| = ILE T #HJIAAERT—TF652 10
2819\ ELE THIIAAEZRTEFEH19 10
2880[ = LB T #1)IEBA ERTE EH28-1 10
2881 | E LR TH)IIAAERT H FEH28-2 10
2882| E LR T#H)IAAAERT E FE#736-1 10
2883| = LLE T A A ERT— 158641 10
2884| E LR T #)IIALAZERT—TE870-1 10
2885|E LLE T#H)IIARAERT—TE870-3 10
2886| = ILE T#)IAAAZRT—TE871-1 10
2887|E LR THIIAAEZERT—TE871-3 10
2888 EEuJLr‘F%?JIIEB)\%HT 15878 10
2889| = LLE T #FhJIEAERT—T15882 10
2890| Z LR T#HIIALAZRTHE 1846 10
2891 |E LR T#HIIIALAZRTHE1945 10
2892|E LR TR AZRFHE1947 10
2893 | E LR T#HIJIAAZRTHE1825 10
2894 | EILE THIIIAAZRTHE1876-1 10
2895(E IR T EBBAZERIFHE2717 10
2896 | E LR T#H)IAAZRTHE2796-1 10
2897 | E LR TR AZRFHE2797 10
2898| = LLE T #)II AL A ZHT F1L307-1 10
2899| = ILE T #)II A A ZHT F1L308-1 10
2900| = LUIE T #H)IIARA ZEHT T 111308-2 10
2901 | EIUE T #H)II AR A ZEHT T 111308-3 10
2902| = ILE F#h)II AL A ZEHT F1L308-4 10
2903| = LUE T #)II AR A ZEHT T 1L1308-5 10
2904| = ILE T #h)II AL A ZHT 11309 10
2905|E IUE FHIJIALAZERT T IL310 10
2906| = IUE T#FHIJIAAZRT/INGZ112 10
2907 | E ILE THIIEBAERT/NFZ277 15
2908(= LB T #)II BB A ZHRT/N42330 10
2909 | E ILE F#FJIAAZRT/NEZ372-1 10
2010| ZILE T #JI A A EHT/NE2665-1 10
2911 [E WIE T #)IEBA ZRTAMLL93 10
2912 = LB T3 EBA ZRTA1LLI94 10
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2013|EILE T FHJIAAEZERTALL102 10
2014|EILE TH)IAA ZERTHILL103-2 10
2915|E U E TFHIEFA EZRTHILL95-1 10
2916| = LUIE T #H I AR A ZERTH1LL196-1 10
2917 (E IR T ) EBA ZHT4 L8421 10
2018| = LLE T AR A ERTALL992 10
2919 E IR T3 EBA Z B4 119961 10
2920| Z ILE F#)IAAZBTL997-1 10
2921 (= IR T ) IEBA Z B4 119981 10
2922 = LI T #)IEBA Z B4 119991 10
2923| = LLUE T #H) I ARA ZBT4 L1300 10
2924 = IR T #r)IEBA ZHTAM 1L 13901 10
2925| = IR F#)I AR A ZBT41L1393 10
2926 | = LLE T #) I ARA ZEBT4 L1395 10
2927|E ILE T H)IABA ZERTH L1404 10
2928| ZE IR T#F)IALAZRTL1422 10
2929| E IR T #F)I AR A EHRTH1LL1396 10
2930[ = LB T #7)IERA ZERTAM L1423 10
2931 | Z ILE T A A ZERT T 1L900-1 10
2932| = ILE T #FHJIAAERT T LL902 10
2933 = IR T3 EBA ZHT T 11964 10
2934 E B T #r)IIEBAZERT F1LL967 10
2935| = ILE TF#JIAFAER T 19691 10
2936| = LLE T#F)IARAERTHLLFET19 10
2937(E IR T #r)IEBA ZRTE L ET42-1 10
2938| = ILE F#FJIARAERTHILERT2 10
2939| E LR TH)IAA ZRTHILFET109-1 10
2940(E B T#)IEBAZRTE L1171 10
290 |E LR TH)IARA ZRTHILET149-1 10
2042 | E I E THIEFAERTHILFT156 10
2943 [E B T#)IEBAZRTEILFT163-1 10
2944 E LB T EBAZBTEILFT174-1 10
2945 E B T BBA EBTEILET174-2 10
2946 = LI T #1)IBBA EBTEILET174-3 10
2947(EE T#)IEBBAZRTELF174-4 10
2948| E LR T H)IARA ZERTH L1751 10
2909 | E LR FHFIAAZREILF175-2 10
2950( = B T #)IBBA ZE=BTEILIFT175-3 10
2951 [E R TF)IEBAZRTELFT193-1 10
2952| E IR T #H)IARA ZRTHILE257-1 10
2953 = IR T #)IIEBA ZRBTE L FT260-1 10
2954 E B T EBA ZRBTE L2611 10
2955|ZE IUE T#F)IIAAZRTEILF261-2 10
2956 = LR T #)I BB A EBTEILET261-3 10
2957(E IR T EBA ZRBTELFT262-1 10
2958 = LR T #)IBBA ZEBTEILET262-2 10
2959| = IR T #)IBBA ZEBTE IL$ET262-3 10
2960| = LI T #) I BB A =BT E ILFT262-4 10
2961|= LR T #)IEBA ZBTEILET262-5 10
2962| = ILE T #H)I AR A ERTHILFT69 10
2963| = LR T #) I BB A ZRBTELLFT1068 10
2964 | = LLIE T #)I ARA EHTH 1LLF456 10
2965| = LR T )11 AR A Z 8T8 L7500 10
2966 | = LUE T #)I A A ZRTEILFT510 10
2967 | E ILE THJIAAZRTHILFR519 10
2968| = LR T #)I| AR A E=HT 5 1LLFR585 10
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2969 | = LLIE T )1 AR A ERTH LLFT661 10
2970 = IR T BBA ZRBTE ILFT666-1 10
2971 [EIWE T EBA ZBTE L9791 10
2972 = LB T EBA Z=BTE ILFT980-1 10
2973 E IE T #)IBBA EBTEILET1070 10
2974 IE T#)IBBA EZERTZE/AR630-1 10
2975 IE T#)IBAEZERTZE/AR631-1 10
2976 E ILE T#)IBBAEZERTE/AR645-1 10
2977(EIE T#)IEBAZBTE L1111 10
2978 = I T #1)IBBA EBTAEILET911-3 10
2979 E IR T#)IBBAZRTEILF11-4 10
2980| = LLIE T #) I AR A ERTHLLET922 10
2981 (E IE T #r)IIERAERT/INEZT8 10
2982 = LB T #7)IERA ERT/VE283 10
2983 | Z ILE THJIEBAERT /N 2791 10
2984 = LI T #1)I BB A EHRT/ME282-1 10
2985(E LB T EBBAZEHRT/NE2314 10
2986| = LLIE T )1 AR A ERT /N 24051 10
2987 = IR T #1)I BB A ERT/NE2407 10
2988| = LLIE T HJIABA ZRTHILL197 10
2989 | E IR T #)II A A ZEHRTALL198 10
2990| = LR T # )1 AR A ZHBT4 L1201 10
2991 | E LR T #h)II AR A EHBT4 11449 10
2992| ZIUE T#F)IAAZATLA479 10
2993| = LLE T #)II AR A Z=HT4 L1480 10
2994| E ILE THJIAA ZERTHILLI1064 10
2995|E LR T #H) I AR A ZBTHLLFE 1251 10
2996 | ZE LR T#HIJIAAZRTFT R 279 10
2997 | ZE ILE T#HIIERAERT/\1E104 10
2998( = LB T &)1 BB A ZHT/\ 152561 10
2999| E ILE T #hJIEFAERT/\ 151321 10
3000| Z LLUE F#JIAAZHRT/\1E192 10
3001 (= IR T#r)IIEBA ZEHT/\ %3101 10
3002| EILE THJIABAZERT/\IE151 10
3003| = LLE T #hJIAFAERT/\ 15188 10
3004| EILE TH)IAAZEHRT/\IE191 10
3005 EEuJLr‘F%?JIIEB)\%HT/\ %2021 10
3006| = LUIE T H) I AR A ERT/\1E217 10
3007 | E LLE T #h)IAAZHT/\1H206-1 10
3008|E LLE T#r)IERAZEHRT/\WB/NEFEH608-4 10
3009|E LE TR ERAZHRT/\MB/NEFEH610-3 10
3010|Z ILIE T ) BB A ZRT/\ %270 10
3011 |ELE THIIEAEZRT/\IE271-1 10
3012[E B T#)IIEBAZERT/\1E271-3 10
3013|EILE T AR A EMRT4E1L188 10
3014|ZEILE T#FHIIEAERTEHS8 10
3015[EE T #T)IBRAERTERR19 10
3016|E ILE THJIIABA ZERT R 581 10
3017[EWIE T EBA ZRTBRIE 1491 10
3018|E U E THJIBAERTBEE176 10
3019 = IR &) EBA Z= T BR/E 1801 10
3020| Z IR F#HIJIALAZRTEIF276 10
3021 | ILE T#FHIIEAERT &R 302 10
3022[E BT BBAZERTERIE161-1 10
3023 | E LR F#FIJIALAZRT AR 199 10
3024| Z ILE T #FHIIEAERTFiF 202 10
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3025|= LLE T ) AR A ERT At B 203 10
3026 | = LR T #)II AR A EHT fit B 204 10
3027|ZEILE TF#FHIIAAERT R 216 10
3028| = LB T #h)II AR A E=HRT fit K 200 10
3029| E LLE T #F)II AR A ERT At K 201 10
3030|ZILE F#FHIIAAERT TR 213 10
3031 | ZEILE TF#FHIIAAEZERT R 215 10
3032| = ILE TF#FHIIAFAERT At F 1802 10
3033| = LLE T AR A EHRT At K 1803 10
3034|Z ILE T #FJIARAERT i1 1804 10
3035|= LUE T ) AR A EHRTfit K 1805 10
3036| = LLE TF#FIIAAERT T R 1826 10
3037|EILE FHFHIIAAEZEREFH171-1 10
3038| = LLE T ) AR A EHRT#it 1808 10
3039|EILE THIIAAERT TR 1814 10
3040[E IIE T #)IBBA ERT At R 1815 10
3041 [EIET#)IEBAZRTEF 11681 10
3042| ZILE TR AR A ZERTEF 169 10
3043[E B T#F)IEBAZRTEFF170 10
3044[E BT EBBAZRTEF 1721 10
3045(= LR T3k 11 EBA ZHT fit R483-1 10
3046 | = LLE T ) AL A EHT fit 4841 10
3047|Z ILE T #FHJIEFAERTfiF B 560 10
3048|Z ILE T #F IR AERT i1 R 561 10
3049| E LR T #h)IAAZEHTAit 3826-1 10
3050| = LR T #)II AR A EHT fit R869-2 10
3051 | Z LLE T AL A ZEHT /it 3886-1 10
3052 = LR T #)IIEBA Z=HT it R.887-1 10
3053| = LLE T #h)II AR A Z=H7 /it 3888-1 10
3054 = L2 T #)I1EBA ZHT it 79091 10
3055 | ZE IR T#HJIALAZEHRT it R 1106 10
3056 | = LR T #) I AR A ZEHTfit B 16241 10
3057|E LR THIJIAAZERT A+ R 1370 10
3058| E LR T#)IIARAZEHRT it R1531-1 10
3059 | E LR THJIALAZERT it R 1728 10
3060( = LI 2 T 371 BB A ZHT fit B 552 10
3061 (= LR T #)I EBA ZHT fit B 555 10
3062 = LR T #)IIEBA ZHT fit B819-1 10
3063| = LUE THIESAERT A1 B 937 10
3064| EILE TFIIAAZRTAAR1118 10
3065| = LUIE T #H)IIARA EHRTfit B 1460 10
3066|= LUE THIEFAERT A1 B 1492 10
3067 (= LB T &) BB A ZERTEFFh241-1 10
3068| = LLE T #h) I AR A ERTEF 1580 10
3069 | E ILE THIIAAEZRTEF 727 10
3070(= L2 T3k BB A E BT B R 581 10
307 | ELETHIIIAAZRTE 5620 10
3072|ELE T#HIIAAZRTE 728 10
3073|EILE T#FHIIEAEREFH622 10
3074|ZELE T#HIJIAAZRTE 623 10
3075 | EILE THIIIAAZRTE 624 10
3076| EILE THIIEBAERTEFH631 10
3077|EUE THIIIAAZRTE 634 10
3078| E LR F#FJIALAZRTE 703 10
3079|E L E THJIEAERTEFH706 10
3080| = LU E THIESAERTEF R 707 10
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3081 |EUE THIEAZERTH;R235 10
3082|E U E THIEAERThR242 10
3083|E L E THIESAERTH;R237 10
3084|ELE THIEFAERTh;R238 10
3085|E U E THIEFAEHRT bR 241 10
3086|= LLIE T ) AR A ERT R 2431 10
3087|E ILE T#FHIJIABAERTFR243-2 10
3088|EILE THIEAZRTIPIR12 10
3089|EILE THIIEAZRTFR13 10
3090(Z B T #r)IIEBA ERTHR61-1 10
3091 [E IR T #)IEBA EHRT I R62-1 10
30902| EILE TF#FHIIIAAEZERTFAG126-1 10
3093[E BT #)IIEBBAZERT R 14 10
3094|E ILE THJIABAZERT R 15-1 10
3095 = IR T #r)I BB A ERT R 74 10
3096| = ILIE T#HJIIEBAERT R 78-1 10
3097 ELE THIIEAZERTFR119 10
3098 = BT #)IIEBAZERTR120 10
3099 | E ILE TF#JIAAERT A G 1251 10
3100| ZILE TF#FHIIAAERS3T279 10
3101 | EIUE THJIALAERT 431280 10
3102| EIUE T #HJIIALAZEHRT 51300 10
3103|ZILE F#FHJIAAEZERFR112-1 10
3104| ZEILE F#FHIIAAERFR116-1 10
3105(E IR T#)IIEBBAERT 51349 10
3106( = LB T #)IIEBAZER] 531351 10
3107|E LR T#HIJIAAZER 41352 10
3108| E LR T#HJIALAZERT 51363 10
3109| E LR THIIAAERTST497 10
30| EUE THIIALAZER 51350 10
3111 [EWET#)IEBAZERT 51498 10
12| EILE THIIIAAZRT 177 10
3| ELETEIIEAEZRTE 179 10
14| ZEILE THFHIIAAEZERT K192 10
35| EILE T#HIIIAAEZRT K175 9
3116|ZILE T EFA ERT#H4K176 9
3117[E IR T3 EBA ZHT #4525 1 9
3U18|EUE THIESAEZERT 311 9
39| EILE T A A EBT #4432 9
3120( = L2 T 7)1 BB A Z BT f414842 9
12| ELE TH)IIALAERT #H4K43-2 9
I EUETHIIBAEZRTELT 9
123 ELETHIIEAEZRFE18 9
3124[ELE T EBBAZERTEH 56-1 9
3125(E B THFH)IEBAZRIFET-1 9
3126( = LB T EBBAZERTH 58-1 9
3127|Z ILE T #h)IEFA ERT &R 405 12
3128| = LU E T &I EFA ERT B [H 406 12
3129[ELE T3 BB A ERTBEE 411 12
3130|ZILE T#FHIIEAERT/\1E315 3
3131 |ZEILE T#HIIEAERT/\1E534 8
3132[E WIE T #)IEBA ZHT_E $7258-1 2
31| ELETHIIIAAZRT T LFF36 8
3134[ELIE T #)IIBBAZERTEIN361 7
3135|EILE THIIAAER S E10-1 2
31| ELETHIIIAMAZR S E11-1 2
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3193|E LR THIABA EBT R K541 15
14| ELE THIIAAZR S 208 4
3195|ZILE TFHFHIIAAER S 2209 4
3196 = IR T EBBAEZERT 5 E254-1 10
3197|E LR THIIIABA ERT RF168-1 4
3198[E R T#IEBAZRT S E210-1 13
19| EILETHINAAEZERS 211 13
3200| ZEIUE FHIIIAAEZ S 22121 13
3201 | EILE FHFHIIAAEZERS 22151 10
3202[E B T#)IEBBAEZER 5 E253-1 10
3203 | E ILE THIABA ERT RFT67-1 4
3204[E IIE T #)IEBBAERT S £33 8
3205|EHE THIEAZER S E56-1 8
3206[E LLIE T #7)IIBBAERT & &53 9
3207 |EUE FHIIIAAZR S E54 12
3208| E LR THJIAAERT S E251 10
3209| ELE THIIAAZER S 251 10
3210[E IR T EBA ZRT/NME F 440-1 11
22U |ELETHIIEAEZER/NEFI73 11
3212| = LLE T 311 ZREA B AT LU 39 9
3213|ZILE T EREA BRI A =33 10
3214|= 1LE T )1 5 B BT 2L E7294 10
3215|= LB T &) || R &R B BT 2 401 10
3216(|= LI T3 EREH B BT EL $7402-1 10
3217 = R T #)I ER5H B BT EL¥7402-2 10
3218 = LLIE T 3711 ERER B AT ELE7403 10
3219 = IR T3 ER%H B BT48 7K 1031 10
3220| = LLIE T #7)1 EREH B BT 48 /K 89 10
3221 (= IR T3 EREH B BT4E K971 10
3222| = ILE T ) EREA B AT k1522 10
3223 EEuJLr‘F%?JIIEBEHEIHT%izN 10
3224|Z ILE T ) EREA B ATAE K119 10
3225| = ILE T # I EREA B AT E §5100 10
3226|= LLE T )1 EREA B BT EL 87305 10
3227| = ILE T #h)I AREA B BT 4k ET282-1 10
3228| = LLE T #h)I AR EA H BT 4k BT283-1 10
3229|E LR T # I EREH HETHE A2 10
3230| = LUIE T #)I| EREA B AT HE A 31 10
3231 | ZEILE T ZREA B ATHE A 3-2 10
3232| = ILE T EREA B ATHE A 3-3 10
3233|ZEILE T #)IIEREA B ATHE A 34 10
3234|= LLE T )1 EREA B ATEE A 3-5 10
3235|= LLIE T )| EREA B AT 84 3-6 10
3236| = LLE THJIIE A HRTHE A8 10
3237(E WIE T3 EBEH B BT A 116691 10
3238| = L2 T 37| EB%H A AT/NEE 123 10
3239| = ILE T AREA HAT/NEE 1301 10
3240(= L2 T #7)IIERSH HAT/NEE 137 10
3241[Z LB T 37| EB%H B AT/NER 155 10
3242| = ILE T #)I| AR B BT & FHl/4E739-1 10
3243 = LR T #7)IEREH B BT 8 FH1 /{8742 10
3244|ZEILE T #)I| AR B BT & FHl/{E743-1 10
3245 = IR T #)I R B B8 FH1 /{87432 10
3246 = L2 T 371 ZREH B BT8 TH1/{E744 10
3247 = S T #7)IEBEA B BT 8 FH1/{E745 10
3248| = ILIE T #)I| AREH B BT & T Al /{E746-2 10
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3249(= L2 T %71 EBEA B BT 8 FH1/{E747 10
3250|E LU E T &) 38 H BT B R ET68-1 10
3251|E U E T &I 381 H BT B R ET69-1 10
3252| = LLE T )1 ZREA B AT/NE 156 10
3253| E LR T EREA B BT /NEE 157 10
3254|E IUE T &I 080 H BT #4581 10
3255|E U E T &I 08 B BT ERB1677 10
3256|E LUE TH)IIE 5 B BRTERET678 10
3257|E L E THIIEE B RTERBT679 10
3258| = LLIE T #)I| EREA B BT 48k 8 10
3259| = LB T #) 11 EREA B BT4E K21 10
3260| = LLIE T )11 AR EA B AT48 7K 2241 10
3261|= LLIE T )11 2R EA B BT4E /K49 10
3262|= LB T &)1 SR B BT 4 K9 10
3263|= LB T )| &R &R B BT EXET676 10
3264/ = LB T )| &} &R B BT 1LII%845 9
3265(= LIS T 3711 ERER B AT LUK 853 9
3266(= LIS T 3711 ERER B Ay LUK 846 9
3267(= L2 T #7)IERSA B AT LLIZ847 9
3268|= LIS T #7)I1ER%R B AT A 1LLI686 10
3269| = LLE T AREA B BT B U1 10
3270(= L2 T #7)IIER%A B AT A LLI687 10
3271[E WS T3 ER%R B AT B 11683 10
3272| = ILE T #h)IIEREA B BT & 157341 2
3273| = LR T AR5 H BT % 1%733 2
3274| = LR T #7)1| ERER B BT BX BT 44 7
3275| = LR T #h)I AL 50 B BT EXET45 7
3276| = LIS T #)I| Ef 20 B BT BRBT462 7
3277(E IR T #)IER5H B AT LU 1071 8
3278| = LR T )1 AREA B BT 1Ll 1083 8
3279| = LR T )1 AR EA B BT LIl 10841 8
3280| = LR T )1 AREA B BT LIl 10551 8
3281 | = ILE T #)II AREA B BT 1L 1026-1 3
3282| = LR T #)I| AREH B BT LLIi%1026-2 3
3283| = LR T )| AREH B BT LLII%1026-3 3
3284 = LR T #7)IER5H B BT LU 1064 8
3285| = LLIE T )1 AREA B BT 1Ll 10251 8
3286| = LR T #)I| AREH H BT LLIi&1025-2 8
3287| = LR T )1 AREH H BT LLIi%1025-3 8
3288| = LLUE T )| AREA B BT LI 10411 8
3289| = LLUE T )1 AREA B BT LI 10571 8
3290| = LLUE T #)I| AR EA B BT LIl 1058—1 8
3291 = B T 7)1 EREA B AT LI 1056 8
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